

C/o Range rd & Anfield rd
Blackheath
Kuilsrivier
Cape Town

C/o Range rd & Anfield rd
Blackheath
Kuilsrivier
Cape Town



(021) 903 3880

(021) 903 8874

Pieter@lrsa.co.za

Liquor Runners Cape Town

Http://www.lrsa.co.za

GRV for Dannic - LRSA NR: 13796 (GRV)

Receiver: Brock Tharpe

Checker: Brock Tharpe

Warehouse: Clairwood

Sender Ref 1: IBT00136/020/IBT00136IBT

Receive Date: 2025-04-17

Warehouse Recv: Cape Town

Sender Ref 2: 69898

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
760013	SMIRNOFF INFUSIONS RASBERRY PASSION (12 X		L50451F002	50	600
774230	JOHNNIE WALKER BLONDE 75CL (12 X 750ML)		L4019T5002	5	60
683749	J and B RARE (12 X 1L)		L4246CG001	10	120
782658	BLACK and WHITE SCOTCH WHISKY (24 X 200		L50941H001	6	144
783163	DON JULIO BLANCO (6 X 750ML)		L2300D1002	8	48
679415	J and B RARE (12 X 750ML)		L4277CF004	25	300
789359	GORDONS DRY GIN (12 X 750ML)		L50341J001	25	300
789359	GORDONS DRY GIN (12 X 750ML)		L50331J002	48	576
789359	GORDONS DRY GIN (12 X 750ML)		L50161J001	2	24
789359	GORDONS DRY GIN (12 X 750ML)	L50381J001	L50381J001	43	516
789359	GORDONS DRY GIN (12 X 750ML)		L50351J001	1	12
789359	GORDONS DRY GIN (12 X 750ML)		L50141J001	3	36
789359	GORDONS DRY GIN (12 X 750ML)		L50171J001	8	96
787267	SMIRNOFF 1818 (12 X 1L) PET		L43371H001	12	144
787267	SMIRNOFF 1818 (12 X 1L) PET		L50231H001	23	276
787268	SMIRNOFF 1818 (12 X 500ML)		L43431H001	35	420
765053	WHITE HORSE (12 X 750ML)		L5028CG001	1	12
765053	WHITE HORSE (12 X 750ML)		L5008CG004	3	36
765053	WHITE HORSE (12 X 750ML)		L4339CF003	11	132
687385	BLACK and WHITE (12 X 750ML)		L4221CF002	35	420
787584	CM BLACK JAMAICA RUM 750 ML		L50101F001	15	180
760014	SMIRNOFF PINEAPPLE CRANBERRY and LEMO (L50451F001	25	300
789360	GORDONS DRY GIN (12 X 200ML)		L50711G001	112	1344
782656	BELLS EXTRA SPL 20CL (48 X 200ML)		L43571H001	10	480
787266	SMIRNOFF 1818 NEW PACK (12 X 750ML)		L50671F001	375	4500

Checked By:

Receiver: HZP774FS

Transport Company:
UR Transport

Checker: Simbongile Maxwell Mlambisa

Driver Signature:

17/04/2025 02:41:45 PM

C/o Range rd & Anfield rd
Blackheath
Kuilsrivier
Cape Town

C/o Range rd & Anfield rd
Blackheath
Kuilsrivier
Cape Town



(021) 903 3880

(021) 903 8874

Pieter@lrta.co.za

Liquor Runners Cape Town

Http://www.lrta.co.za

GRV for Dannic - LRSA NR: 13796 (GRV)

Receiver: Brock Tharpe
Checker: Brock Tharpe
Warehouse: Clairwood
Sender Ref 1: IBT00136/020/IBT00136IBT
Receive Date: 2025-04-17
WarehouseRecv: Cape Town
Sender Ref 2: 69898

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
787266	SMIRNOFF 1818 NEW PACK (12 X 750ML)		L50441F001	75	900
771708	TANQ LONDON GIN 75CL (12 X 750ML)		L4214CU003	60	720
694742	BELLS EXTRA (12 X 750ML)		L4262CG001	70	840
752486	JOHNNIE WALKER RED LABEL (12 X 750ML)		L4239CC002	64	768
789359	GORDONS DRY GIN (12 X 750ML)		L50321J001	390	4680
787582	CM ORIGINAL SPICED 75CL		L50711F002	75	900
				1,625.00	19,884.00
			Total QTY Received	1,625.00	19,884.00

Checked By: _____

Receiver: HZP774F5

Transport Company: _____

Checker: Simbongile Maxwell Mlambisa

Driver Signature: _____

17/04/2025 02:41:45 PM

LIQUOR RUNNERS CAPE TOWN

GOODS RECEIVED VOUCHER

3628

To be completed on receipt of goods from producers, Truckdrivers or Warehouse

GRV 13796 DRIVER NAME: Simbongile

HIRE TRANSPORTATION CC. (if delivered by Hire Vehicle)		LR Transporter	
LOAD SHEET No.	1BT00136/69898	VEHICLE REG. No.	H 2P 774 FS

CUSTOMER	Dannic	DATE RECEIVED	
----------	--------	---------------	--

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO. / UPLIFT NO.
	Cases	Units			
1) Tangleway	60		1		
2) Captain Morgan	75				
3) Smirnoff 1818 new	375				LS0071F001
4) Smirnoff 1818 new 12x750	75				LS0441F001
5) Bells Extra 12x750	70				
6) Johnnie Walker Red 12x750	64				LS0321J001
7) Gordons dry Gin	390				
8) Bells Extra 48x200	10				
9) Gordons 12x200	112				LS0711G001
10) Smirnoff Pineapple Cranberry	25				LS0451F001
11) Captain Morgan Jamaica	15				LS0101F001
12) Black & White 12x750	35				LU221CF002
13) White Horse	11				LU339CF003
14) White Horse	3				LS008CG004
15) White Horse	1				LS028CG001
16) Smirnoff 1818 12x500	35				LU3431H001
17) Smirnoff 1818 12x1L	23				LS0231H001
18) Smirnoff 1818 12x1L Pet	12				LU3371H001
19) Gordons Dry 12x750	8				LS0171J001
20) Gordons Dry 12x750	3				LS0141J001
PALET CONTROL: GKN Blue #1					
OTHER					
TOTAL:				1	

NOTES: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: Buhle DRIVER: Simbongile

TIME COMPLETED: _____ PAGE: 1 PAGE: 2

LIQUOR RUNNERS CAPE TOWN

GOODS RECEIVED VOUCHER

3629

To be completed on receipt of goods from producers, Truckdrivers or Warehouse

GRV1379B

DRIVER NAME: Simbongile

HIRE TRANSPORTATION CC. (if delivered by Hire Vehicle)		CR Transport	
LOAD SHEET No.	1BT00136/69298	VEHICLE REG. No.	11ZP774FS

CUSTOMER	Dannic	DATE RECEIVED	17.04.25
----------	--------	---------------	----------

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO. / UPLIFT NO.
	Cases	Units			
1) Smirnoff Inf Raspberry Passion	50				LS0451F002
2) Gordons Dry 12x750	1				LS0351J001
3) Gordons Dry 12x750	43				LS0381J001
4) Gordons Dry 12x750	2				LS0161J001
5) Gordons Dry 12x750	48				LS0331J002
6) Gordons Dry 12x750	25				LS0341J001
7) J&B Rare	25				LS277Cf004
8) Don Julio	8				LS300D1002
9) Black & White scotch 24x800	6				
10) J&B Rare 12x1L	10				
11) Johnnievalke Blonde	5				
12)					
13)					
14)					
15)					
16)					
17)					
18)					
19)					
20)					
PALET CONTROL:	GKN	Blue	#1		
	OTHER				
	TOTAL:		1625		

NOTES: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: Buhk DRIVER: _____

TIME COMPLETED: _____ PAGE: 2 PAGE: 2

LIQUOR RUNNERS

Start time: 19:41

Durban

Finish time: 20:15

GOODS RECEIPT / ISSUE

Nº 56103

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME Simbongile

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)	LR
LOAD SHEET No:	VEHICLE REG No: <u>HRP 774 FS</u>

CUSTOMER	<u>Dennis LBT CPT</u>	DATE RECEIVED	<u>14/04/2025</u>
----------	-----------------------	---------------	-------------------

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) Gordons Dry Gin	520 ✓	8P			
2) 12 X 750ml					
3) Smirnoff 1818 vodka	450 ✓	6P			
4) 12 X 750ml					
5) Bells Extra 12X750ml	70 ✓	1P			
6) CM Spiced Gold 12X750	75 ✓	1P			
7) ml					
8) Tanqueray LNDM Dry	60 ✓	1P			
9) Gin 12X750ml					
10) JW Red Label 12X750	64 ✓	1P			
11) ml					
12) JW Blonde 12X750ml	5 ✓				
13) Bells Extra SPL 12X200ml	10 ✓				
14) J&B Pure 750ml	25 ✓				
15) Smirnoff 1818 1000ml	35 ✓				
16) CPT Morgan Black Jem	15 ✓				
17) Rum 750ml					
18) Smirnoff 1818 500ml	35 ✓				
19) Black & White 750ml	6 ✓				
20) Don Julio Blanco 750ml	8 ✓				
PALET CONTROL: GKN BLUE 24#1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>Thobani</u>	DRIVER: 
TIME COMPLETED: _____	PAGE; _____ PAGE; _____

